
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

7734.2 × 0.0001 = ________ 5945.2 × 0.001 = ________

8863.9 × 0.0001 = ________ 5401.3 × 0.001 = ________

7153.4 × 0.01 = ________ 5184.7 × 0.001 = ________

2459.1 × 0.1 = ________ 7007.4 × 0.0001 = ________

4002.8 × 0.01 = ________ 8008 × 0.0001 = ________

4763.1 × 0.001 = ________ 7884.1 × 0.001 = ________

5676.3 × 0.01 = ________ 7133.7 × 0.0001 = ________

6897.1 × 0.001 = ________ 8492.2 × 0.001 = ________

4172.1 × 0.001 = ________ 4290.7 × 0.1 = ________

2466.5 × 0.0001 = ________ 8437.5 × 0.01 = ________
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

7734.2 × 0.0001 = 0.77342 5945.2 × 0.001 = 5.9452

8863.9 × 0.0001 = 0.88639 5401.3 × 0.001 = 5.4013

7153.4 × 0.01 = 71.534 5184.7 × 0.001 = 5.1847

2459.1 × 0.1 = 245.91 7007.4 × 0.0001 = 0.70074

4002.8 × 0.01 = 40.028 8008 × 0.0001 = 0.8008

4763.1 × 0.001 = 4.7631 7884.1 × 0.001 = 7.8841

5676.3 × 0.01 = 56.763 7133.7 × 0.0001 = 0.71337

6897.1 × 0.001 = 6.8971 8492.2 × 0.001 = 8.4922

4172.1 × 0.001 = 4.1721 4290.7 × 0.1 = 429.07

2466.5 × 0.0001 = 0.24665 8437.5 × 0.01 = 84.375
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